
EXAM MFE QUESTIONS OF THE WEEK
S. Broverman, 2007

Week of March 12/07

A stock paying no dividends has a volatility of 30%. The continuously compounded risk free rate
of interest is 5%. The forward price of the stock for delivery in one year is $100. An American
put option on the stock has a strike price of $100. Using a binomial model with 4 steps and
? œ / . œ /5 5È È2  2  and   to determine that price and optimal exercise policy for the option at
each node in the binomial tree.

The solution can be found below.



Week of March 12/07 - Solution

The steps are each -year, so    and   ."
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In the tree on the next page, the stock price is given above each node. The hold price below each
node is the expected present risk-neutral value of the two possible branch values. If the exercise
price is above the hodl price, then it is optimal to exercise.




